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f,9:R->R,f(1)=3,9g(1) =2,xf(y) + yf(x) = 2f(xy)
xg(y) +yg(x) =2g(xy) ¥x,y€ER
Find :

N fl f(sinl;(x))

0 f (sinh(x)) +f (cosh(x)) dx

3 2
Proposed by Daniel Sitaru-Romania

Solution by Shirvan Tahirov-Azerbaijan

xf(y) +yf(x) =2f(xy) = xf(1) +f(x) =2f(x) = f(x) = xf(1) = 3x

xg(y) +ygx) =2g(xy) = xg(1) +2g(x) = 2g(x) = g(x) = xg(1) = 2x

f <sinl31(x)> _sinh(Go) . f (cosh(x)) _ cosh(®)
inh X _ ,—X
J‘l f(sms(x)) L fl sinh(x) L fl e 2e L
0 f(sinl:;(x)> + f<cos£1(x)) o sinh(x) + cosh(x) 0 € —ze‘Jr L& -;e—x
ef—e”* e*—e”*
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